La Mise en Evidence (2éme) - Exercices

Mets en évidence le (ou les) facteur(s). communs des expressions suivantes.

e 20x3y227 + 4x37° = @ 14x—6xy =

e 5xy —45x = Q 63yz5 —567° =
935v+25= @54b+45=

o 16bc + 7220 = @ 72b2c8 + 63a3c2 =
e 72x%y7 —9x7y573 = e 18ab +30b =

e 20y - 5xy = @ 15b7c/ - 40ab2c? =
o 7-xy= Q 28x%y2 - 20xy0 =
e 27ab°c + 9a*b? = @ 35xy + 45 =

e 5b°c + 40a°¢3 = @ 15x9y3z +20x42° =
@ 12xy + 6y = @ 16x—-8 =
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20x?’y227 +4x32° = 4325 (5yzzz +1)
5xy —45x =5x.(y-9)

35y +25=5.(7y +5)

16b°c + 72a°c® = 8c. (2b5 + 9a5c5)
72x4y7 - 9x7y523 = 9x4y5 . (8yZ - x323)
20y — 5xy =5y . (4 —x)

7-xy=1.(7-xy)

27ab°c + 9a*b® = 9ab? . (3bc + a3)

5bc + 40a°c3 = 5c¢ . (b5 + 835c2)

12xy + 6y =6y . (2x + 1)

@ 14x — 6xy = 2x. (7 — 3y)

Q 63y25 -562°=72°. (9y - 8)

@ 54b+45=9.(6b +5)

@ 72b2c® + 63a3c2 = 9c2. (8b2c4 + 7a3)
@ 18ab + 30b =6b . (3a + 5)

@ 15b7 ¢’ — 40ab2c* = 5024 . (3b5¢3 - 8a)
Q 28x4y2 - 20xy6 = 4xy2 . (7x3 - 5y4)

@ 35xy +45=5. (7xy +9)

@ 15x9y3z +20x%2° = 5x3z. (3x5y3 + 4z4)

@ 16x—8=8.(2x—-1)
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